
cftrr ci5r

cllcdl

b) Least frequent value

d) Middle must value

Median is

a) Most frequent value

c) Centre of gravity

7.Q.

(ii)  A = {2,4,6,8}

(iv)  10 € A
(i) A = {2,4,6}

(iii) 4eA

4

bllowing is falseIf A = {x I x, is even number less than 10 } Then which one of the

A= \xlx, i o ^ ^i<\ ^^t^t ^^f^^rr % } eft

6.Q.

Null Set is a of all sets

Find the Value of 10

10^ C^T ehlesi     ^1 Id ^^

iv) nPr(iii) Zr(ii) An-r(i) An

c|5T

The value of nPr -s- nCr is

(iv) 36

The fifth tirm of the sequence 4, 12, 36is
A3  1 2, 36    cJ5T

(i)  332(ii) 338(iii) 324

(iv)4

The arithmetic mean between 4 and 10 is
A 3?t^ 1 0 ^ cftcT  TJc|5  xH<HlorU%

(i) 40(ii) 7(iii) 14
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' actualmate o

e)
dldCi)

se)

orcnci)

)
TcTcT)

lse)

icna)

Value obtained by interpolation

a) Is eqval to actual value  b) Is less than actnal value

c) Is more than actual value  d) Is the maximum possible es

value.

3f|odTc)|U|d ^T^T  Ulki d^^^

(cb) cll^i-dfclcb <*^$r\ c   g|tHc|^  alcii %

(^r) cJ^^lclcb *^H "^ cb3T ^lcll ^l

(^r) ci^dRicb ^$$nA ^ arfejcb ^lcii ^

(El)  cJI^-cfl^cb ^Jc^T  cbT  3rfe|cbd<H ^^T^^llIcld 31d,<HM ^lcTT % 1

Probability lies between o to 1                        (True/Fal:

yiRjchdi cbl diioi o ^ i ^ <sTlcj   alcii ^      (^^l

A time series is affected by economic factors               (True/Fa

T^cf5  c^id ^^f 3nfefc^ Ucichf   ^" 'P'aHlfcId &lc^l ^  (^i\

The seasonal fluctuations are

(i) Periodic and irregular                   (ii) Periodic and regular

(iii) Not periodic                       (iv) Cyclical
di^-ldfl  3^rJlcJt^d ^t^" ^

(e^^)  3TTcrfercf5 X^cT  3lloi<i|DHd     (<s\)   ^u^\ucp yd [ci^Dici

(jn) 3TTcrfera5 ot#        (^t)    ^^^

Harmonic mean is the reciprocal of arithmetic mean   (True/Fals

^-^oHcfc>  d^ltJil    -^HtHidxl <MltjdJ    cbl cs^cs><H % I     (^T^/

Which of the following is not a mathematical average ?

a) Geometric mean b) Harmonic Mean

c) Moving average  d) Qudratic Mean

f^<MJ[cbd <^ child xHI tJl^Jl^l^ 3^^^TcT ^T^t ^ 1

<rr)   rlcT ^TT^r           "El)  l^^lcfl^ ^TTEHT

Median is a value having maximum frequency       (True/F

^^rfeZTcbT  cT^  ^j^il ^ Fj1tHc| 3-llcjfci 3-lltJcbdcH "^  |  (^^1/

Which of the following relationship is correct

(a) AM= 4GMxHM   (b)HM= 4AMxGM

(C) GM ~ ^AM x HM   (D) GM - AMxHM

(a) AM = 4GMxHM   (b) HM = 4AMxGM

(C) GM ~ 4AMxHM   (D) GM - AMxHM

15.

14.

13.

12.

11.

10.

9.

8.

Q.

Q.

Q.

Q.

Q.

Q.

Q.

Q.



eft A"

Find  A'1

[5]

23 1
34 1
3   7 2

23 1
34 1
3   7  2

A =

If A =
22.Q.

2x-Y +3Z =9
x + Y + Z =6
x-Y + Z =2

[5]

Solve the following equations by Cramer's Rule21.Q.

>  ^  IAll Question Carrying 5 marks

GROUP - C

oTT

[3

that itFrom a pack of 52 cards one card is drawn at random. What is the p

will be Queen of clubs or king of diamond ?

5 2 cTTff cft

20.Q.

[3If 4 coins are tossed, find the chance that there should be two tails

4 ^^cW^ 3^>lc^    vjild) eft  ^

19.Q.

53 <H'JIirlcjI^.

[3What is the chance that a non-leap year should have 53 Tuesday ?18.Q.

[3]Calculate the geometric mean of 20, 40 and 80
2 0, 4 0 cTSTT   8 0 cpT ^Taflx^^  ^=ITS2T  HTcT

17.

36

that a

by the

s founc

btained

[3]

The average marks secured by 50 students was 44. Later on, it v

score of 36 was misread as 56. Find the correct average marks <

students.

5 0 fcrenfe^^ff  ^*reT  yi<-d ^rrezr  3tc^ 44 err   1   any ^ yen

yr><iTch>  c^t  56 y^ fci^i ^rtt  sit  i fcranfe^^ff  jrt  yi<^i  ?.

TTcT   ftf

16.Q.

GROUP - B
All Question Carrying 3 marks (^raft



[8]By Binomial expansion method. Interpolate the missing figure.
(T^^ci fcReTR ^^fei ^t  Si^lld 3fc^ fTTeT  c^^ |)
Year (^sf)2004  2005   2006   2007

Pofit(Lakh)5045?38

31Q.

60-7

60-

3
50-60

3
50-60

26
40-50

26
40-50

44
30-40

' idc^lc^
44

30-40

20
20-30

20
20-30

6
10-20

6
10-20

3rrafcr
3i\ct>\-

Frequency
Size

[8]Calculate 'Mean' and 'Median' of the following series30.

[8]If A= {l,2,3,4,5,6,7}andB= {3,4,5,6,7,8,9}      find

(i) A-B (ii) AaB (iii) A n B
A ={1,2,3,4,5,6,7} ererTB= {3,4,5,6,7,8,9}  eh

(i) A-B (ii) AaB (iii) A n B

29.Q.

'L'

FteTT
3TotT FteTT

^TTcTcft<sic]a\'DELHI'
(i) oft   'D'
(ii)oft   T
(iii)

[8]Find the number of words formed by the letters of the word 'DELHI
(i) Which begin with'D'
(ii) End with T
(iii)The letter 'L' being always in the middle
(iv)Begin with 'D' and with T

28.Q.

[8]
lemThree numbers, whose sum is 15, are in AP If 1, 4 & 19 be added to

respectively, they are in G.P. Find the numbers
cftcT ^T^TTT^ foTeTcf^T <ifl<JH-bcri   1 5 ^, ^H<Hlcndri ^ft  ^ % I

1 ,  4 cTeiT  1 9 oTl^l oTTXJ eft  ^" d^ujl-dxi ^^ft  ^ Ft^" ^ eft

27.Q.

GROUP - D
All Question Carrying 8 marks ^^aft ^Tgoff

ata

[5]
009

17

; series

)08
12

Find the trend value by least square methodfrom the following tim

Year (^^f)2004 20052006  2007  2

Produuction (Lakh ton)    57910
(eTr^r

26.Q.

110
3

150
2

120
4

50
6

40
10

Size (sttcj^r)
Weight (an^)

[5]Find weighted harmonic mean25.Q.

[5]Find (<Hld foicblcl)

r(x-3)2  .
J—-r-^^
J    ^x

24.Q.

[5]
Y= (x2+5x+l)5   then find ^

dx

dy_

dx
IfY= (x2+5x+l)5   then find23.Q.


